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Circle () the letter of the correct answer using a pen.
Use g = 10 m/s? and G = 6.67 x 10~11 N.m?/kg’.

Q1.

Q2.

Qs.

Q4.

Q5.

Q6.

Q7.

A 70 kg man runs at the same speed of a 280 kg horse. Which of the following is correct?
a) They have the same kinetic energy

b) The kinetic energy of the horse is 4 times larger than the kinetic energy of the man
c) The kinetic energy of the horse is 2 times larger than the kinetic energy of the man
d) The momentum of the horse is 2 times larger than the momentum of the man

A stone is thrown horizontally at 27 m/s from the top of a 45 m high building. What is the horizontal
component of its velocity after 2 seconds?

a) 47m/s

b) 27 m/s

c) 51m/s

d 7m/s

Falling on sand is safer than falling on solid concrete because:

a) the time of impact is reduced which increases the force of impact
b) both the time of impact and the force of impact are reduced

c) the time of impact is increased which reduces the force of impact
d) both the time of impact and the force of impact are increased

Stone A was thrown horizontally from a high cliff. At the same moment, stone B was released from
rest from the same place. Ignoring air resistance, which of the following is correct

a) Both stones A and B will reach the ground at the same time.

b) Stones A and B will hit the ground with the same velocity.

c) Stone A will reach the ground in less time than stone B.

d) Stone B will reach the ground in less time than stone A.

A projectile can become an Earth satellite if:

a) It was thrown straight upward with a very high speed.

b) It was thrown straight upward with a reasonable speed.

c) It has enough horizontal speed such that the curvature of its path matches that of the Earth.
d) It has a zero horizontal speed.

Consider a ball thrown straight up. Neglecting air resistance, which of the following is true?
a) The mechanical energy of the ball remains unchanged

b) The ball has zero kinetic energy at the highest position it reaches

c) The ball has the maximum potential energy at the highest position it reaches

d) All of the above

A rabbit has a kinetic energy of 300 J. If it doubles its speed its kinetic energy becomes:
a) 12001 b) 600 c) 400) d) 2400)
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Qs.

Q9.

Q1o0.

Q11.

Qi2.

Q13.

Qi4.

Q15.

Q1ie.

Q17.

What is the average force required by a goalkeeper to stop a 500 g soccer ball moving at 30 m/s in
0.1 seconds?
a) 15N b) 150 N c) 150000 N d) 15000 N

On anicy road a 1200 kg car moving at 12 m/s crashes into an 800 kg car parked at the roadside. If
the two cars stick and move together after collision, their speed will be
a) 8.0m/s b) zero c) 6.2m/s d) 7.2m/s

While standing on slippery ice (no friction), you throw a 10 kg bowling ball horizontally away from
you at 5 m/s to the left. If your mass is 80 kg, the velocity at which you recoil is:

a) 1.6 m/sto the right

b) 1.6 m/s to the left

c) 0.625 m/s to the right

d) 0.625 m/sto the left

You lift a 25 kg crate to a height of 1.5 m at a constant speed in 2 seconds. The work done by the
gravity force is:
a) Zero b) -375) c) 375) d) -37.5)

In the previous question, your power in lifting the box is:
a) 187.5W b) 375W c) 375W d) 18.75W

The total work required to increase the speed of a 1500 kg car from 2 m/sto 4 m/s is:
a) 3000 b) 15000 c) 18000 d) 9000

A ball of mass m = 3.0 kg rolling horizontally at a speed of
v = 4 m/s encounters a hill, as shown in the figure. Ignoring
friction, what is the maximum height h the ball will reach
before rolling back?

a) 1.6m

b) 4.0m

c) 24m

d) 0.8m

The work done in carrying a 5 kg bag horizontally at a constant speed for 10 m is:
a) Zero b) 501 c) -501) d) 5001

Given that the radius of Mars is 3396 km and its mass is 6.42 x 1023 kg, the weight of a 100 kg man
on Mars is:
a) 3713N b) 371.3N c) 556.7N d) 5567 N

The gravitational attractive force between two objects is 900 N. If the distance between the two
objects is tripled, what will be the new value of the force?
a) 300N b) 900 N c) 100N d) 2700 N
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